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2850 836 | 1276 735 355 407 470 929 404 318 | 1206 39 113 91

100.0 | 29.3| 44.8| 25.8| 12.5| 143 | 16.5| 32.6| 14.2| 11.2 | 42.3 1.4 4.0 3.2

20 99 20 44 34 16 18 21 22 18 4 30 - 10 1
100.0 | 20.2| 444 | 343 16.2| 18.2| 21.2 | 22.2| 18.2 4.0 30.3 - 10.1 1.0

20 287 7 128 94 50 35 45 98 41 24 96 4 15 3
100.0 | 26.8| 44.6 | 32.8| 17.4| 12.2| 15.7 | 34.1| 14.3 8.4 | 33.4 1.4 5.2 1.0

20 446 146 214 125 53 67 54 129 49 49 190 15 19 1
100.0 | 32.7| 48.0| 28.0| 11.9| 15.0| 12.1| 28.9| 11.0| 11.0| 42.6 3.4 4.3 2.5

40 353 97 152 106 49 67 31 104 40 49 155 3 16 12
100.0 | 27.5| 43.1| 30.0| 13.9| 19.0 88| 29.5| 11.3| 13.9| 43.9 0.8 4.5 3.4

50 561 166 273 131 62 102 99 175 83 75 231 1 23 17
100.0 | 29.6 | 48.7 | 23.4| 11.1| 18.2| 17.6 | 31.2| 14.8| 13.4 | 41.2 0.2 4.1 3.0

60 588 172 295 115 T 65 98 225 84 63 287 6 10 18
100.0 | 29.3| 50.2| 19.6 | 13.1| 11.1| 16.7| 38.3| 14.3| 10.7 | 48.8 1.0 1.7 3.1

70 404 131 129 104 35 39 102 142 5 40 171 8 18 18
100.0 | 32.4 | 31.9] 25.7 8.7 9.7 25.2| 35.1| 18.6 9.9 42.3 2.0 4.5 4.5
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